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NETET 20 270 ~230
OSSAIYAT BRX HRNDS o)
20,00021523] o
01 YerEE 500 500
14 olErRA S 500 500
ORSa HYAD SOl B3t UE A 4D
za2 500,000 %12+ 500
HEZAIKIIE ZAHRDN) 47,963 63,519 A 15,556
= 4,427
A 13.5%
HEZAIKIOF ZAHR0N) 47.963 63,519 A 15,55
= 4,427
A 13.5%
101 It 44,624 58,303 A 13,670
2 4,28
A 40,38
BIES EEV=TPS 44,624 58,303 A 13,679
ONEBAXI LLEE JAHI2T 0124
bl 3,702
BIES
10,0302 32448 A 244202 152 26,480
= 3,369
A 23,111
|
10, 000214321 sBA| 255458 6.018
- 764
A 5,254
P 10,0302+324xBA| 24452 1,204
= 153
A 1,051




2A:

0|7 URAKIED

M 2T S2X0 2A2((]0])
Sl JHESAIXIOF ZAH(R0I) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMNEZAIXIL HREX JIZHHZ2 2R &
uz 6,419
!
1,9102+3E +BA| 2222 +5 5,043
—Fgag
1,9103 3 +BA| 2t +53=+5F 1,146
— o x==g 1,910 «3E <8 Al 2t+53 230
OMESAIXIL HREX N2 2 X 2
= 4,503
—=2g= 40,121,000 *4. 5% 1,806
—2IES 40,121,000 +3.545% 1,423
—LoFIRAEH
1,423,0002 *12.95% 185
—IEEE 40,121,000&+1.75% 703
—&HEE 40, 121,000& +0.96% 386
201 2= 3,339 5,216 AN1,877
= 4
Al 3,198
01 At2tltl 3,339 5,216 A1,877
OHNESAIXIL Hitktg Q1Y 1,455
—Zg7 45,0002 *210H 2= 945
—XIJbEA 51,0003 * 107 2 510
ONLEZAIXIL 222 M=
16,0003 x21JH 2:%42] 1,344
OMLBAINIL ZA 2% #EZH)
60,0003 x1&+93 540
= 141
Al 399
A 2HAHI(R0I7 YLAXIED) 45,024 9,701 35,323
Jl=23HI(A01= IAXIAD) 45,024 0 45,024
JI23HI(K01= SIAXHDL) 45,024 0 45,024
201 er23 | 22,464 0 22,464
01 At2teltl 22,464 0 22,464
ORANEgII123H| 22,464
—2Bt=Shl 40,0002 ~262 »122+0.8 9,984
—=4| 50,0002 x26E 122 +0.8 12,480
202 04| 18,720 18,720
01 =LHO LI 18,720 18,720
Oge=dJ1=20H|
120,000 x262 *12&+0.5 18,720
203 AHR=H] 3,840 3,840
M A2 LRFAI 3,840 3,840
ORANEgg =AY
400,000& +12&+0.8 3,840
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H & 0l & A H Al A
20258 20ilat Letel ) 017 HEXNAY ~ A0 ZAID200
FA: 2017 MK
A = WA otEA SE (A (R01)
el ZEE 20 SEF MRl (WAH)(R0) (cHol:ziel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
20|17 AR 876,112 988,297 A112,185
= 46,021
Al 830,091
5= o oHE A =E(THAHA) (R01) 504,588 539,828 54,760
== 23,011
Al 571,577
3 20 S Mgzl (WetA)(200) 504,588 539,828 54,760
< 23,011
Al 571,577
X AI==S CHXI2 (RHAEAL) 46,022 20,776 25,246
= 23,011
Al 23,011
101 @124H| 46,022 20,776 25,246
= 23,011
Al 23,011
04 JIZtN2 2N S 2+ 46,022 20,776 25,246
OXIZAl At=2te] AR el 46,022
—QI2A4H| 44,022,000 44,022
[ 22,011
Al 22,011
—OdH 2,000,000& 2,000
= 1,000
Al 1,000
KIZHAl S HHAEAL) 438,119 405,562 32,557
101 21A4H| 23,775 0 23,775
04 JIZtN2 2N S 2+ 23,775 0 23,775
OSEHAM JIZEHZZ X+ 2121H] 17,975
==
10,0303 +xBAI 2t * 1 +x22 L «8E 14,123
—T5rd
10,0302 *BAI 2t *1H +5F+8E 3,210
— %X 10,0302 *BAI2H+ 18 <83 642
OSEHoIAM JIZHZ2 24 M= 3,425
=2
1,9103x8AI 2H+ 12 »222d <8 2,690
-5+
1,9102+BA| 2t 1H 55482 612
— %X 1,910 +8AI 2t 1 +82 123
OSEHolAM JIZHZ224 282 2,375
—=8le= 21,144,000 *4 . 5% 952
—2ZEE 21,144 ,0002 %3.545% 750
—LOIRIIQAEH
761,0002%12.95% N9
—1E2E 21,144,000 *1.75% 371
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S /017 HLD
3 T H2e oHEA =S (A (201)
Coll ZEE 21 S8X M2 (HAM)(R0I) (69 =)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— & HEE 21,144,000 +0.96% 203
201 er23| 412,173 404,602 7,571
01 At22te|Hl 75,093 66,175 8,918
OXXIM HMI= 68,843
—OAA oI T £
803 *792,6832 63,415
—0XAM SE HH 55% %08, 6820H 5,428
OXNZH 2= M&
1,250,000 %53 6,250
02 S3=gHl 337,080 338,427 A1,347
OXZH 2ERLS 337,080
—SI 2,530 +3,9282112& 119,255
—apt 4303 #42, 2142412 217,825
203 HR=AH] 2,1 2,11
03 A= PR FAI| 2,17 2,17
OXEH 2T 2 HEZSHRE 2257
2,171,000& 2,171
KAl Mgt S5 Z4=(THAA) 63,593 69,888 16,295
201 et 3| 62,593 47,929 14,664
01 AtR2te|Hl 18,116 22,591 N4,475
OXIZAl MEDXIAM QI4HH]
803 %18,22021 %42 5,831
Ot HADX MHIA =2 11,594
—2HtY 82X MHIA
15431 %43] 11,5002 7,084
—&ALIN HA MEIA
4,510,000 4,510
OMe Sdd+-25 &l 22|
691,000 691
02 S3=4gHl 44,477 25,338 19,139
OMEIXNA && S LE 2ER=S
4302 %6,00024 122 30,960
OXIZAl 28t ME22lAAE R 2==H] 5,544
—2HY |2 403,000 123 4,83%
—BY=3 RAZ=+ 59,000& * 122 708
ONEXE SaAMAAE S 21
380,250 * 12 4,563
Oz JXE sUds SMR=
30,000 x3CH* 122 1,080
O=EXE FAl2ell 2,330
—SSAY 288 900,000 *1TH 900
—SEXE ASTHA 50,0002 1CH 50
—SEXUE *RFH|
75,0003 *1CH* 122 900
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SN 01T MR
3 T H2e oHEA =S (A (201)
Coll ZEE 21 S8X M2 (HAM)(R0I) (69 =)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SEXY it
40,0002 *1CH* 12 480
303 Z&=s 1,000 1,000
01 o= 1,000 1,000
ONEAl Ao HYES Ta
1,000,000& 1,000
Hgtzeleh 2 (TAAI) 46,854 1,000 45,854
101 e124d| 46,854 0 46,854
M ORINZZ2NSE S 46,854 0 46,854
OHMg2tele JI2HHZ2 24 21244| 35,387
=2
10,0302 *7 Al 2H2H «22 2 < 9F 27,804
—x=gag
10,0302 7 Al 2H+2E +5==+9F 6.319
— ¢ x==g 10,0303 *7 A 2t *2 H+0E 1,264
OMe et JIZtNZ22 A d2es 6,740
—J=2
1,91021+7 Al 2H2Z 222 102 5,205
—FEaY
1,910 *7 Al 2+2F x5 5=+0F 1,204
— ¢ x==g 1,9103 7 Al 228+ 241
OHMgaele JIZHN2 24 288 4,721
—=gld= 42,127,000& %4 5% 1,89%
—AY2E 42,127, 0002143 545% 1,4%
— L OIR)| Qo
1,494,000 %12.95% 194
—1ELE 42,127,00021.75% 38
—&HEE 42,127,000& 0. 96% 405
NN 2 S5 -(FSAH)(R0I) 208,276 180,952 27,324
= 23,010
Al 185,266
HES M 22l(FISAH)(R01) 208,276 180,952 27,324
= 23,010
Al 185,266
X2 NI==SUHRI (FSA) 46,020 0 46,020
S 23,010
Al 23,010
101 21AH| 46,020 0 46,020
== 23,010
Al 23,010
M ORNZZ2NSE S 46,020 0 46,020
OXIZAl At=2te]l ZAH el2t| 46,020
—QI2A4H| 44,020,000 44,020
= 22,010




A ADIF AR

B KAl A4 ST S8 (HSH)(01)
ol Hast AR 22l (FSM)(R0)) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 22,010
— 044l 2,000,000 2,000
== 1,000
Al 1,000
XLAl 200 22l (FISH) 162,256 180,952 18,696
201 er23 | 160,085 178,781 218,696
01 At2teltl 36,062 27,821 8,241
OXZM DXIAM HM= 24,252
— 0NN 2 H A= EH
803 %290,4004 23,232
—0AAM S& MH 55% %18, 5450H 1,020
OXZAH 222 M&
1,750,000 22 3,500
OMSuUad 22l
64,0002 x122+0.8 615
ONFedd 425 Y 8%
—=SMEX 25,0003 »272 A 675
—Hb AP (FAXEH )
55,0003 *4H 220
ONSeIA Z2IE)| X2
150,000 x2CH* 122 3,600
OFSAH ADtIEN ME 2dHEI =2
1,600,000 x224 3,200
02 S5=2g4l 124,023 150,960 N26,937
OXNZH 2ER= 124,023
—S 2,530 *74621 123 22,649
—get 4303 19,6461~ 12& 101,374
203 =] 2,1 2,17
03 A=A 2= 2,1 2,11
OXIgAl 2o & A+-SlHes 224
2,171,000& 2,171
HY 2 ZHI(F0IF AR 73,248 81,168 AT7,920
[2ZHI(A017 H<2t) 73,248 81,168 AT,920
JI2ZHI(J017 HIRD) 73,248 81,168 AT,920
201 et 3| 36,288 32,832 3,456
01 AtR2tc|Hl 36,288 32,832 3,456
ORM2EI1=Z I (A1) 18,144
— 22| 40,0002 x21E*12&+0.8 8,064
—=4| 50,0003 x212H*122+0.8 10,080
ORAN2EIN2ZHI(FISAH D) 18,144
— eS| 40,0003 x21H*123+0.8 8,064
—a=4tl 50,0003 x21E*12&+0.8 10,080
202 04l 30,240 43,776 A13,536
01 2LHoIH 30,240 43,776 A13,536
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2A:

207 A

M. HYS2AAUI(A0I7 M)
el Jl2gul(&017 M) R
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OYRFZDI 208 (R AFAI D)
120,000 x218 123 +0.5 15,120
OYRFZD|I20I(FSAHD)
120,000& 219122 +0.5 15,120
203 AR F=&lH| 6,720 4,560 2,160
M 2GRS 6,720 4,560 2,160
ORN2ILRFTEI(THAAIDE)
350,000& x12&+0.8 3,360
ORM2IERETHI(FHSH D)
350,000& x12&+0.8 3,360
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| & AF S B

Al A

20258 20ilat Letel ) 017 HEXNAY ~ A0 ZAID200
FA 207 ARSI
3 FOI=SX A4S (HA0I7 ARSI
Tl MIAS SXIANY BAEHADIT ABI=X1D) GRS
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201+ A= Xt 71,727,759 64,325,496 7,402,263
= 60,820,009
== 5,565,987
Al 5,341,763
ZHEX AS (017 ALSISX11) 9,785 10,786 21,001
KSGAE SXIAIY S&3HR0I17 ARSI 9,501 10,502 A1,001
SXER =& X (A0 ARSI 9,501 10,502 21,001
201 et23| 8,167 9,168 21,001
02 S3=gl 8,167 9,168 21,001
OoRER3 8,167
—&I 2,5303x18424+ 128 5,587
—apt 4302 «5002 * 122 2,580
203 HR=H] 1,334 1,334 0
03 A=A 2= 1,334 1,334 0
OSXAIY H2=2 1,334,000 1,334
=0 ES(R0I) 284 284 0
OIMHeIRS (&0l) 284 284 0
201 er2 3| 284 284 0
02 S3=gHl 284 284 0
OMi=SHAAYE 28 Stz
23,600~ 128 284
DI ZMSEF(A0) 60, 193,691 52,754,828 7,438,863
= 53,485,669
< 4,372,166
Al 2,335,856
NASS JI=MESF(K01) 60, 193,691 52,754,828 7,438,863
= 53,485,669
== 4,372,166
Al 2,335,856
2122 XI(&01) 4,355,461 3,667,200 688,261
= 3,484,369
= 435,546
Al 435,546
301 EetE NS 4,355,461 3,667,200 688,261
= 3,484,369
= 435,546
Al 435,546
01 Al EE AT S (2 RDEEMRA) 4,355,461 3,667,200 688,261
O2g=Al 4,355,461,000& 4,355,461
= 3,484,369
= 435,546
Al 435,546
ZIIEE 2AS=EX(0I) 281,230 315,000 A33,770




fA: 07 ARIS X

Ha: 20| ZMBIF(A0
X

|
el MASES J|IZME8E(J0I) (S ® )

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 60,730
Al 220,500
301 EtE NS 281,230 315,000 A33,770
= 60,730
Al 220,500
02 AR 2HALFS(HAAS, XLHE) 281,230 315,000 A33,770
OIIEE A=K (REEE)
281,230,000 281,230
=S 60,730
Al 220,500
Jl=MEEE MASH(K0I) 55,240,000 48,079,120 7,160,880
= 49,716,000
= 3,866,400
Al 1,657,600
301 2N = 55,240,000 48,079,120 7,160,880
= 49,716,000
= 3,866,400
Al 1,657,600
01 Al EE A S (2 REXMA) 55,240,000 48,079,120 7,160,880
OJI=dEe8d MA=0
55,240,000,000& 55,240,000
= 49,716,000
= 3,866,400
Al 1,657,600
SHAME RIS O (R0I) 317,000 310,700 6,300
= 285,300
= 9,490
Al 22,210
301 LeEN= 317,000 310,700 6,300
= 285,300
& 9,490
Al 22,210
01 A2 HSHS(RNEERTH) 317,000 310,700 6,300
O FagSPN(I=10 317,000,000 317,000
= 285,300
< 9,490
Al 22,210
ZHoHe! =X SR (&0I) 361,163 318,150 33,013
= 3,850
= 71,134
Al 276,179
ZOHQISXIAMHIA 2isH(&0]) 351,163 318,150 33,013
= 3,850




2A:

207 Atel= X112

M ZoHel SX Sa(K01)
ool ZOHI=SXIMEIA Z3H(20l) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 71,134
Al 276,179
MAS ZoHQ! XEtHl 2 A A XI&(R01) 7,700 7,700 0
= 3,850
== 578
Al 3,272
301 22N = 7,700 7,700 0
= 3,850
=S 578
Al 3,272
01 Al 2E A S(FRDEXMA) 7,700 7,700 0
OMASZO dHl 2 ZAHEl X
7,700,000 7,700
= 3,850
= 578
Al 3,272
CIHE ZoH HAH E2F XA (R0I) 18,633 12,600 6,033
< 5,590
Al 13,043
301 LELEN S 18,633 12,600 6,033
= 5,590
Al 13,043
02 ARSI 2EH 2GS (HAAHS, W) 18,633 12,600 6,033
Ozlgy e tay s+83 728 K&
18,633,000& 18,633
= 5,590
Al 13,043
ZOHQIDL7 HEHEHI(R0I) 324,830 297,850 26,980
[ 64,966
Al 259,864
301 LELE NS 324,830 297,850 26,980
= 64,966
Al 259,864
02 A2 EH 2GS (FHAAHS, W) 324,830 297,850 26,980
ORIt Hitet| 324,830,000 324,830
= 64,966
Al 250,864
ZHOHQ! MEord X (R0I) 11,120,128 11,140,260 N20,132
= 7,330,490
=S 1,122,687
Al 2,666,951
ZOHQ! D= MESH(R0I) 11,120,128 11,140,260 N20,132
= 7,330,490
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2A:

207 Atel= X112

A ZOHQ! MEord X (&0I)
CHel: ZOHO! DI ZMESX(R0I) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,122,687
Al 2,666,951
o= (01x) X=(&0I) 1,436,049 1,436,049 0
= 1,005,234
== 301,571
Al 129,244
301 22N = 1,436,049 1,436,049 0
= 1,005,234
=S 301,571
Al 129,244
NEEEEES EIEREES ) 1,436,049 1,436,049 0
OBON+Z(OIZ) X2
1,436,049,000& 1,436,049
= 1,005,234
= 301,571
Al 129,244
=2 (XHARAS) XN=(R01) 563,679 563,679 0
= 394,576
= 118,372
Al 50,731
301 EtE NS 563,679 563,679 0
= 394,576
= 118,372
Al 50,731
01 Al EE A S (2 DEXR) 563,679 563,679 0
OBO+L(RARS) XIS
563,679,000 563,679
= 394,576
= 118,372
Al 50,731
CHIZOH=EH(&0I) 648,000 648,000 0
=S 194,400
Al 453,600
301 EtE NS 648,000 648,000 0
< 194,400
Al 453,600
02 AL 2EH LGS (HAAS, W) 648,000 648,000 0
O&HI == 648,000,000 648,000
& 194,400
Al 453,600
eIz =0 XI=(~0l) 8,472,400 8,492,532 N20,132
= 5,930,680
& 508,344




SA: 07 A= X1

HE: OOl MEOIY XS

[uind

w0

ol)
)

el ZOHQ! JIZMESE (R0 (CH9: /M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,033,376
301 EtE NS 8,472,400 8,492,532 N20,132
= 5,930,680
= 508,344
Al 2,033,376
01 Al EE AT Z(2DEXR) 8,472,400 8,492,532 N20,132
OFeIgs 20 N2
8,472,400,000& 8,472,400
= 5,930,680
= 508,344
Al 2,033,376
A 2AAHI(KA0I7 AEIS X1 52,992 101,472 A\48,480
[2ZHI(017 AFZIZ2X11L) 52,992 101,472 A\48,480
Jl=2ZHI(J0I7 ARIS X1 52,992 101,472 A\48,480
201 2= 26,784 40,608 13,824
01 At2t2lt] 26,784 40,608 A13,824
ORAM2gII1=23H| 26,784
— 2SSl 40,0002 312x12&+0.8 11,904
—=4| 50,0002 312 *122+0.8 14,880
202 04| 22,320 54,144 A\31,824
01 2LHA b 22,320 54,144 A31,824
OgRFZ|=0d|
120,000 31 *122+0.5 22,320
203 HR=H] 3,888 6.720 A2,832
M EA2ER=A 3,888 6,720 N2,832
ORNEgE =AY
405,000& «12&+0.8 3,888
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H & 0l & AL S Al A
20253 = 204 LB R0 HHXADL ~ JA0I7 SAIDI21
SA: R0 A= XD
2 HOISX A4S (017 AtsI=X20H)
o2l XHAE] SXAIY 843H20I7 AtsIS X210t EERCED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
07 A= X210 194,933,911 185,722,962 9,210,949
= 149,64, 187
= 1,431,788
J| 3,051,983
= 19,831,834
Al 20,924,069
=X ASE(2012 Al=I=X121H) 6,089 10,673 N4,584
KGAE] SXAIY E43H2017 ALSIS X2 6,089 10,673 4,584
SXGR FXXA(A017 Ats=X121) 6,089 10,673 A4,584
201 B2 AY| 4,584 9,168 A4,584
2 SE=29| 4,584 9,168 N4,584
oRERI 4,584
= 2,530 100+ 12& 3,036
— 2t 430&*30021 12 1,548
203 PYR=&IH| 1,505 1,505
03 A F=AIHRFAIH| 1,505 1,505
O=XAIM JRFA 1,505,000& 1,505
JIE0| &) E2 SXAEIA HMS(K0I) 4,110,883 2,400,684 1,710,199
= 9,000
| 3,051,983
& 466,408
Al 583,492
SIEQIIE XIA(J01) 4,110,883 2,400,684 1,710,199
= 9,000
| 3,051,983
T 466,408
Al 583,492
MAS SHEI2IE X (S0])(A0l) 277,904 277,904 0
T 83,560
Al 194,344
301 LetEHZ 277,904 277,904 0
= 83,560
Al 194,344
P2 AN BEHHZ(HAHS, NYHA) 277,904 277,904 0
ONAS 822ItE X (ZH)
277,904,000& 277,904
& 83,560
Al 194,344
MAS SHEIIIE K| (=Y])(A0I) 3,806,939 2,088,120 1,718,819
| 3,045,551
& 380,694
Al 380,694
301 LPENZ 3,806,939 2,083,120 1,718,819
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SA: 017 A== X210

M JIE0| A E2 2XAMHIA HZ(201)

Ctel: SR RIS XIA(R0I) (S &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 3,045,551
= 380,694
Al 380,694
01 A 2EHHZ ([ REETR) 3,806,939 2,088,120 1,718,819
OMAS SIR2IIE AsH| S XA (34)
3,806,939,000& 3,806,939
| 3,045,551
& 380,694
Al 380,694
HAaE S22 XS (K0]) 8,040 17,860 A9,820
| 6,432
& 804
Al 804
301 LB F 8,040 17,860 A9,820
| 6,432
& 804
Al 804
01 A BEAHZ2(RREETHA) 8,040 17,860 A9,820
OFALYE 822 Ots2=dl S K&
8,040,000& 8,040
| 6,432
& 804
Al 804
HAERE ots2=sHl X2 (200) 18,000 16,800 1,200
= 9,000
& 1,350
Al 7,650
301 LPENSZ 18,000 16,800 1,200
= 9,000
= 1,350
Al 7,650
01 Al B&X2HZ2(2REETA) 18,000 16,800 1,200
OFLEHRER Ots2sH| N&A
18,000,000& 18,000
= 9,000
= 1,350
Al 7,650
LIS +=QEU(&01) 142,952,589 130,397,997 12,554,592
= 127,131,684
& 6,407,362
Al 9,413,543
Lol oS X (&01) 142,952,589 130,397,997 12,554,592
= 127,131,684
= 6,407,362
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2A:

X XH -
o=

2017 Atzl= X121
LoIEX =& (A0l)
Lol ootatE KA (R01)

chl: (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 9,413,543
Z2Y Al3ISAH 2SHI(K01) 147,600 147,600 0
=S 14,760
Al 132,840
307 21201 & 147,600 147,600 0
< 14,760
Al 132,840
11 AMEISXAEEES 147,600 147,600 0
OAZL ABIZAL 2|
147,600,000 147,600
= 14,760
Al 132,840
32 2 XF(F00) 986,844 986,707 137
=S 36,190
Al 950,654
307 @I2to| & 986,844 986,707 137
== 36,190
Al 950,654
10 Al2ISTIAIEEE 22X 986,844 986,707 137
oZzd 24 & 361,900,000 361,900
& 36,190
Al 325,710
OZ2g 2% R (AHIFIH
624,944,000 624,944
d2g RA(0I) 77,400 117,500 /40,100
201 et 3| 29,100 48,500 19,400
02 s3=gHl 29,100 48,500 19,400
OZZEAIE +2l=4
29,100,000 29,100
401 AIEHIZL S0 48,300 69,000 20,700
01 Al&H| 48,300 69,000 220,700
OZ=d 2BMHE A 48,300,000 48,300
ol MEorE X (J01) 27,000 27,000
307 el2to| & 27,000 27,000
02 2B YAIHE A 27,000 27,000
OZ=29 & dA N3
1,350,0002*2000 S 27,000
Jl==3 K= (&01) 141,713,745 129,146,190 12,567,555
= 127,131,684
= 6,356,412
Al 8,225,649
301 EetE NS 141,713,745 129,146,190 12,567,555
= 127,131,684




SA: 07 A== X210
M LIS +=QEH(A0I)
|

ool L0l oDtEs IR (R0I) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,356,412
Al 8,225,649
01 A2 HSHS(RNEERTH) 141,713,745 129,146,190 12,567,555
OPJESer=) 141,713,745,000& 141,713,745
= 127,131,684
< 6,356,412
Al 8,225,649
OtOIDF =5t SXIAMHIA MS(R0I) 47,831,374 52,913,608 Ab,082,234
= 22,553,503
= 1,431,788
== 12,958,114
Al 10,887,969
Oelold X (&01) 5,570,160 4,826,918 743,242
= 133,59%
= 3,011,911
Al 2,424,653
ofglold 3213 &I XA (A01) 120,114 127,974 AT,860
== 38,214
Al 81,900
307 212+01& 120,114 127,974 AT,860
< 38,214
Al 81,900
10 Al2ISTIAIEEE 22X 120,114 127,974 AT,860
Oolelold s218871 K&
120,114,000& 120,114
= 38,214
Al 81,900
Aot HEESUE T2 X (J01) 201,225 353,100 151,875
s 40,245
Al 160,980
307 212+01& 201,225 353,100 151,875
[ 40,245
Al 160,980
10 AlRISTIAIEEE 22X 201,225 353,100 151,875
Ogor =251ty 12148 X3
201,225,000 201,225
= 40,245
Al 160,980
SO E ofgl0ld 2 X (&01) 605,686 813,270 207,584
=S 133,845
Al 471,841
307 @I2t01 & 605,686 813,270 A207,584
< 133,845
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2A:

X ZH -
o=

21017 Atgl= X120
OROIDI B8 2XIMHIA MZ(K01)
O{2101& X (=0l)

el EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 471,841
10 Al SXAZEE 22X 605,686 813,270 A207,584
OgAMIotEE 0elols 28 X3
605,686,000 605,686
== 133,845
Al 471,841
OFIAZSE Of2l0ld 2IXIA(0I) 96,340 106,800 10,460
= 22,140
Al 74,200
307 elzto| & 96,340 106,800 210,460
= 22,140
Al 74,200
10 AlISXAAEEHE 22X 96,340 106,800 10,460
O0RIHEE 0el0ld 28 X3
96,340,000 96,340
== 22,140
Al 74,200
238 elold 2Z4I(|01) 1,187,466 1,172,094 16,372
= 1,044,972
Al 142,494
307 elzto| & 1,187,466 1,172,094 16,372
= 1,044,972
Al 142,494
10 Al SAAEEHE 22X 1,187,466 1,172,004 15,372
Os&€ 0elold 24|
1,187,466,000& 1,187,466
s 1,044,972
Al 142,494
338 H20ld 2 Edst R (0I) 401,633 341,280 60,353
= 120,490
Al 281,143
307 elztol & 401,633 341,280 60,353
= 120,490
Al 281,143
10 Al SXAAEEHE 22X 401,633 341,280 60,353
O338 0elold 2Ea8st &
401,633,000 401,633
=S 120,490
Al 281,143
Oeloly 2¢ X3 (wMHu=H1)(&0l1) 98,000 107,000 29,000
= 58,797
=S 27,443
Al 11,760
307 21201 & 98,000 107,000 /9,000
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2A:

X ZH -
o=

21017 Atgl= X120
OROIDI B8 2XIMHIA MZ(K01)
O{2101& X (=0l)

29: (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 58,797
=S 27,443
Al 11,760
10 Al SXAEEE 22X 98,000 107,000 29,000
ONE0lE 2SI (WL -H])
98,000,000 98,000
= 58,797
S 27,443
Al 11,760
Helold 2 X (J0l) 459,300 496,400 A37,100
307 212+01& 459,300 496,400 A37,100
10 Al2ISTIAIEEE 22X 459,300 496,400 A37,100
OO0y & - | 120,900
—&& 50¢ ol& 700,000& *337H 2 23,100
—& & 4921 Olst 600,000 *1637H 2= 97,800
Oooielold =gl X1a 338,400
—&& 50e! ola 1,900, 0002 *26H 2 49,400
— & 492! olat
1,700,000& 17000 2 289,000
OElold 2LXA(S2H & 2281 (J01) 1,043,193 1,309,000 N265,807
= 312,958
Al 730,235
307 @120l & 1,043,193 1,309,000 N265,807
s 312,958
Al 730,235
10 Al2ISTIAEEE2HIEX 1,043,193 1,309,000 A265,807
Oolzlold 23X (sS4 € 234I)
1,043, 193,000 1,043,193
& 312,958
Al 730,235
Oelold 22X (SAAM2eX&3)(&01) 120,505 0 120,505
= 74,79
< 34,906
Al 10,800
307 glztol & 120,505 0 120,505
= 74,79
== 34,906
Al 10,800
10 Al2ISTIAIEEE 22X 120,505 0 120,505
O0lelold 2 (SMd2eIXES)
120,505,000 120,506
= 74,79
== 34,906
Al 10,800




FA 207 At2ISXI214

3 0t0IJt D%S\_ SEXIAMHIA JMB(201)

ool oglold XI&(&01) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEW=|E HEl01d SAHI XI&(&01) 764,498 0 764,498

= 764,498
307 @120l & 764,498 0 764,498
< 764,498
10 Al SXAAEEHE 22X 764,498 0 764,498
OdZzuWEE 0el0lE s4Hl X3
764,498,000 764,498
=S 764,498
Sl 454 FOLXIR (01) 472,200 0 472,200
= 472,200
307 elztol & 472,200 0 472,200
S 472,200
10 AlRISXAIZEHE 22X 472,200 0 472,200
OF2ITHE 45K 2K
472,200,000& 472,200
< 472,200
EK0ts X (&00) 24,148,954 32,550,000 8,401,046
= 17,141,215
= 5,293,618
Al 1,714,121
ot =g X2 (A00) 1,023,254 1,000,000 23,254
= 767,440
< 179,070
Al 76,744
301 EtE NS 1,023,254 1,000,000 23,254
= 767,440
== 179,070
Al 76,744
01 AR 2EHSHS(RNEXRTH) 1,023,254 1,000,000 23,254
OoJgeds=g A& 1,023,254,000& 1,023,254
= 767,440
=S 179,070
Al 76,744
2220 X (&01) 21,831,700 30,000,000 8,168,300
= 16,373,775
=S 3,820,548
Al 1,637,377
301 Eet2 NS 21,831,700 30,000,000 A8, 168,300
= 16,373,775
= 3,820,548
Al 1,637,377
01 Al EE A S (2 RNEXMA) 21,831,700 30,000,000 A8, 168,300
OR2zs0 X2 21,831,700,000& 21,831,700
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2A:

2017 ALEI= X120t
4=

=712
2 Ol0IDH =8 SXIAMHIA MS(&01)
ool BK0ts XA (A01) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 16,373,775
=S 3,820,548
Al 1,637,377
Sy 29 X (K01) 1,294,000 1,550,000 256,000
< 1,294,000
301 EtE NS 1,294,000 1,550,000 A256,000
=S 1,294,000
02 MBI 2HHSFHS(HAANS, XLHE) 1,294,000 1,550,000 A256,000
O=cltd 22 1,294,000,000& 1,294,000
= 1,294,000
Oelold WA X (201) 13,684,491 16,536,690 1,852,199
= 5,278,692
=S 3,430,861
Al 4,974,938
OEl0ly CHMIeIE QiAd|(R0l) 12,210 23,500 A11,290
< 3,600
Al 8,610
307 elztol & 12,210 23,500 A11,290
& 3,600
Al 8,610
10 Al SXAIEEHE2EHI 22X 12,210 23,500 11,290
OO0igl0ld Uixels Q2|
12,210,000& 12,210
= 3,600
Al 8,610
UZ0IE CHMIAL 14H] XI&(R0I) 117,840 120,000 A2,160
= 72,000
= 33,600
Al 12,240
307 gl2to| & 117,840 120,000 A2,160
= 72,000
= 33,600
Al 12,240
10 Al2ISKIAIEEE23HI2X 117,840 120,000 A2,160
OOGIgl0lE UHMwAF Q12|
117,840,000 117,840
= 72,000
= 33,600
Al 12,240
SR AAH N (ForHg S)(&01) 1,398,778 1,300,000 98,778
= 839,267
== 391,658
Al 167,853
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SN /01T AFEI= X2
2 Ol0IDH =8 SXIAHIA MS(&01)
CHel: O2l0l WA X (R01) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,398,778 1,300,000 98,778
= 839,267
== 391,658
Al 167,853
10 Al2ISTIAIEEE 22X 1,398,778 1,300,000 9,778
OESDEY 22 NA(ZoEY S)
1,398,778,000& 1,398,778
= 839,267
== 391,658
Al 167,853
HE - QIFOIEI01E Zel@ lddl X (=Hl) (& 01) 645,236 744,000 AN\98,764
= 131,156
Al 514,080
307 elztol & 645,236 744,000 AN\98,764
= 131,156
Al 514,080
10 Al SXAEEHE 22X 645,236 744,000 N98,764
Oty - giZtolelol® 2@ QIAHI(=HI)
645,236,000 645,236
== 131,156
Al 514,080
Helold Exels X (&01) 528,000 674,136 A146,136
307 glztol & 528,000 674,136 146,136
10 Al SXAEEHE2EHI 22X 528,000 674,136 N146,136
OO0FRIAZNI0IE EXWAL 12|
60,000,000& 60,000
OJtd - 2I2H0el01E &l el2d] K&
468,000,000 468,000
SN MM KN (RAI2SEZHLH])(R01) 2,214,103 2,510,000 A295,897
= 1,328,462
= 619,949
Al 265,692
301 LEetE2 N = 2,214,103 2,510,000 A295,897
= 1,328,462
= 619,949
Al 265,692
01 Al EE A S (2 DEXR) 2,214,103 2,510,000 A295,897
O0gl0l& WAIZRatEid]
2,214,103,000& 2,214,103
= 1,328,462
= 619,949
Al 265,692
SN MM X2 (WAIBE 2E)(J0I) 125,606 110,700 14,906
= 76,583




A H0IR AEI=TI2D
2 Ol0IDH =8 SXIAHIA MS(&01)
ol Of2IolE mAR XIR(K01) (S ® )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 35,739
Al 13,284
301 EtE NS 125,606 110,700 14,906
= 76,583
== 35,739
Al 13,284
01 AR 2EHSHS(RNEXRTH) 125,606 110,700 14,906
OORI0IE DAIZE 2 Xg
125,606,000 125,606
= 76,583
== 35,739
Al 13,284
Oelold wa MLl XI&(01) 1,690,815 2,000,000 A309,185
= 372,008
Al 1,318,807
301 LENZ 1,690,815 2,000,000 A309,185
= 372,008
Al 1,318,807
02 MR 2HASFS(HAAS, XLHE) 1,690,815 2,000,000 A309,185
O0glold WA X<IHAH|
1,690,815,000& 1,690,815
s 372,008
Al 1,318,807
BKWAF MIM&H] FIF X2 (01) 426,000 426,000 0
= 213,000
Al 213,000
301 LtENZ 426,000 426,000 0
= 213,000
Al 213,000
02 MR 2HHSFS(HAAS, XNLHE) 426,000 426,000 0
OEFWA MRIM&Hl =0t X
426,000,000& 426,000
S 213,000
Al 213,000
ZOHot - TH23HE WA Sx2222(201) 474,923 550,000 NT5,077
& 104,133
Al 370,790
301 LENZ 474,923 560,000 NT75,077
= 104,133
Al 370,790
02 MBI 2HASFS(HAAS, XNLHE) 474,923 550,000 NT5,077
OFOHOL - HOF - LIRS DA S22+
474,923,000 474,923
=S 104,133




A H0IR AEI=TI2D
2 Ol0IDH =8 SXIAHIA MS(&01)
CHel: O2l0l WA X (R01) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 370,790
Oeloly 2 ==X (]01) 635,100 674,000 38,900
301 EtE NS 635,100 674,000 38,900
02 ARSI 2EHTS(FIANS, XLETHE) 635,100 674,000 238,900
O0Z0IE BRDNY AE224g
443,100,000 443,100
O0el0ld BEsuad &J2E5sd
192,000,000 192,000
238 olold lAdl(=el&)(&0l) 478,580 468,054 10,526
=S 143,574
Al 335,006
307 21201 & 478,580 468,054 10,526
== 143,574
Al 335,006
10 Al2ISTIAIEEE2HIEX 478,580 468,054 10,526
O3380igl0lE AHI(ZeIY)
478,580,000 478,580
= 143,574
Al 335,006
Helold n@ E4+u=s(20l) 21,300 21,300 0
= 12,780
= 5,964
Al 2,5%
301 EtE N = 21,300 21,300 0
= 12,780
[ 5,964
Al 2,5%
14 JIEt2 8= 21,300 21,300 0
O0lgl0ld EsuXNE Bx1=
21,300,000& 21,300
= 12,780
[ 5,964
Al 2,5%
S A XY (2XLAH S)(&01) 4,916,000 5,915,000 999,000
= 2,949,600
< 1,376,480
Al 589,920
307 212+01& 4,916,000 5,915,000 999,000
= 2,949,600
=S 1,376,480
Al 589,920
10 Al SXAEEE 22X 4,916,000 5,915,000 999,000
OEXZWAN & HETE WAL 2124H|
4,916,000,000& 4,916,000
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A H0IR AEI=TI2D
2 Ol0IDH =8 SXIAHIA MS(&01)
CHel: O2l0l WA X (R01) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,949,600
=S 1,376,480
Al 589,920
OtsSSXIAIE XI&(&01) 4,427,769 0 4,427,769
= 1,431,788
= 1,221,724
Al 1,774,257
XSotsHlE el4H] XI&(R01) 2,472,4% 0 2,472,4%
[ 1,236,228
= 618,114
Al 618,114
307 el2to| & 2,472,456 0 2,472,4%
[ 1,236,228
= 618,114
Al 618,114
10 Al SXAAEEHE2EHI2x 2,472,4% 0 2,472,4%
OXIeiotsHE elA4H| XI& (=Hl)
2,472,456,000& 2,472,4%
[ 1,236,228
== 618,114
Al 618,114
XS0tsHlE l4H] F=IHXI2 (&01) 839,449 0 839,449
= 251,835
Al 587,614
307 @20l & 839,449 0 839,449
s 251,835
Al 587,614
10 Al2ISTIAEEE2HIEX 839,449 0 839,449
OXIS0tsHE 21248] SOt
839,449,000 839,449
& 251,83
Al 587,614
XotsHE 22 NJA(QI222Hl, FIH=2gH!)(H 391,120 0 391,120
ol
[ 195,560
= 97,780
Al 97,780
307 elzto| & 391,120 0 391,120
= 195,560
[ 97,780
Al 97,780
10 MEISXAIEHE2EHIEX 391,120 0 391,120
OXIY0ots4E JI22HI(=2Hl)
361,920,000 361,920
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SA: 017 A== X210
ZM: OH0IDt =8 SXIMHIA MS(K01)

Sl OISSXIAIE XIR(R01) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 180,960
=S 90,480
Al 90,480
OXlgotsHE =I=2gdl(=4])
29,200,000 29,200
s 14,600
s 7,300
Al 7,300
XSotsdlEe 23H XI&(K01) 48,000 0 48,000
307 glztol & 48,000 0 48,000
10 AlRISTIAIEEE 22X 48,000 0 48,000
OXIeotsHlE =2 8I(AlIL])
48,000,000& 48,000
ZOHSE XHotsHE X (&0I) 41,088 0 41,088
= 12,327
Al 28,761
307 @I2to| & 41,088 0 41,088
== 12,327
Al 28,761
10 Al2ISTIAEEE2HIE X 41,088 0 41,088
ONIOISHE FHSE 2 X2
41,088,000 41,088
= 12,327
Al 28,761
XSH0tsHE SSwAH X (201) 331,056 0 331,056
= 165,528
Al 165,528
307 @20l & 331,056 0 331,056
s 165,528
Al 165,528
10 Al2ISTIAIEEE2HIEX 331,056 0 331,056
OXlotsHle SSnA XI&
331,056,000 331,056
S 165,528
Al 165,528
XSH0tsHlE SACL0l 1248 X2 (&01) 113,400 0 113,400
307 el2tol & 113,400 0 113,400
10 Al SXAAEEHE 22X 113,400 0 113,400
OXgotsHte sA4=<0l o128 XI&
113,400,000 113,400
XS0otSHE! MEESHl X2 (&01) 33,400 0 33,400
[ 10,020
Al 23,380
307 lztol & 33,400 0 33,400




SA: 2017 AtZI=X1210
HZH: 0F0IJF =28 X AMHIA M2(K0I)

Sl OISSXIAIE XIR(R01) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,020
Al 23,380
11 AMEISXAEEES 33,400 0 33,400
OXlZotsHE MEgasHl X
33,400,000& 33,400
= 10,020
Al 23,380
XOotsSHE SAA S+2222(R01) 114,600 0 114,600
== 22,920
Al 91,680
301 2= 114,600 0 114,600
< 22,920
Al 91,680
02 MBI 2HHSFHS(HAANS, XLHE) 114,600 0 114,600
OXISO0tSHIE! SAL S22 X&
114,600,000 114,600
= 22,920
Al 91,680
OlSSXIAIE SALRH MIMAHI(R01) 43,200 0 43,200
== 43,200
301 LEtE NS 43,200 0 43,200
= 43,200
02 A 2E AT S(FIANS, XLETHE) 43,200 0 43,200
OXISOtSHIE! SALA MRIHEH]
50,0003 x72E «12& 43,200
= 43,200
A 2HZHI(K0IF Atsl= X121 32,976 0 32,976
J123HI(J0I7 Atal=XI21) 32,976 0 32,976
J123HI(J0I7 Atal=XI21) 32,976 0 32,976
201 Ler=23 | 16,416 0 16,416
01 At2teltl 16,416 0 16,416
OFRANEgII123H 16,416
—2et=SHl 40,0002 x19H*12&+0.8 7,2%6
—a=4tl 50,0002 x19E*12&+0.8 9.120
202 04l 13,680 0 13,680
01 SLHoIH 13,680 0 13,680
Oge=dII20H|
120,000 x192*12&+0.5 13,680
203 HR=4Y] 2,880 0 2,880
MU FAZSLIFAI 2,880 0 2,880
OFRANEgg =AY
300,000& %122 +0.8 2,880
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—&IIz 100,000 *30H 2=+ 123 3,600
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03 SRA(RIH) 222+ 15,308 9,298 6,010
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10,0303 x8H+BA| 222 +6E 84,734
—F5=4
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—AXt=E 10,0303 x8H+BAl 2H6E 3,852
OJI=28H| &= JI2ZHN22X HE8= 20,538
—Jl2=
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9,000 x2&+53|x 123 1,080
OZ1= J& XA S22 1II1=H| 230
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—0=2| 500,000 1CH 500
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—2Bt=ZH| 40,0002 x29 *128+0.8 11,136
—=4| 50,0002 202 »12&+0.8 13,920
02 S3=gHl 24,760 0 24,760
OoRER3 24,760
—SI 2,5303 %5302+ 128 16,091
—apt 4303 *1,68024+ 12 8,669
202 04l 20,880 0 20,880




FA: ADIF SAID2t
M HY2IAHI(A0I7 ZAIDI2D
Sl JI=ZHI(A017 SAIDI2D) (EERE))

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 20,880 0 20,880
Oge=dII20H|
120,000 20 *12&+0.5 20,880
203 HR=4AY] 3,840 0 3,840
M A2 LRSI 3,840 0 3,840
OFRANEgg =AY
400,000 *12&+0.8 3,840
HWRES(|017 ZAIDZD 1,000 2,000 A1,000
SHERNE(J0I7 ZAIO2D) 1,000 2,000 A1,000
BHEIS(R017 SAIDIZ2 1) 1,000 2,000 21,000
802 grat=JIEt 1,000 2,000 21,000
03 JIEtEtEtS S 1,000 2,000 A1,000
OUEHIIZ2 AHA(2HE ) =58 &
= 1,000,000& 1,000




